. Multi-
C D - 1 Operations Step

Name:

(Daily Word Problem )

Hadley buys 7 boxes of markers with 8 in each box.
Delaney buys 6 boxes of markers with 12 markers in each box.
How many markers did Hadley and Delaney buy in all?

(Show your work.)

(ol

answer.
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D 2 Place Value; Multi-
- Operations Step

(Daily Word Problem )

Name:

First use the digits in the box to create the largest possible number.
Then use the same digits to create the smallest possible number.
Then find the difference between the two numbers.

(Show your work.)

8@) U

&
\ @

\

answer.
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Name:

( D-3 Operations

Single

Step

)

(inly Word Problem)

Bryan is having a pizza party. He has 36 slices of pizza.

He has 9 plates. He puts the same number of slices on each plate.

How many slices of pizza are on each plate?

(Show your work.)

answer.

s
|
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, Multi-
D - 4 Operations Step
Name:

(Daily Word Problem )

Martin, Wyatt, and Adeyla were having a contest to see who could
throw a softball the farthest.

Martin threw the ball 9 feet. Wyatt threw the ball three times as far as
Martin. Adeyla threw the softball 3 feet farther than Wyatt.

How far did Adeyla throw the softball?

(Show your work.)

answer.
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( D- 5 Operations Slsnth:)
Name:

(Daily Word Problem )

Sebastian’s grandma was born on this day in 1952.
How old is his grandma now?

(Show your work.)

answer.
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( D-1 through D-5

CDain Word Problem)

Hadley buys 7 boxes of markers with 8 in each box. Bryan is having a pizza party. He has 36 slices of pizza.
Delaney buys 6 boxes of markers with 12 markers in each box. He has 9 plates. He puts the same number of slices on each plate.

How many markers did Hadley and Delaney have in all? . o . How many slices of pizza are on each plate?
First use the digits in the box to create the largest possible number.

Then use the same digits to create the smallest possible number.
Then find the difference between the two numbers.

7x8 =56 36:9=4
6x12=72 8,531

56 +72=128 1,358
8,531 -1,358=7,173

answer: 128 markers answer: 7'] 73 answer: q s"ces

Martin, Wyatt, and Adeyla were having a contest to see who could Sebastidn's grandma was born on this day in 1952.
throw a softball the farthest. How old is his grandma now?
Martin threw the ball 9 feet. Wyatt threw a ball three times as far as

Martin. Adeyla threw the softball 3 feet farther than Wyatt.

Answers will vary, depending
on the current year.

How far did Adeyla throw the softball?

9x3=27
27 +3=30

2020 - 68
2021 - 69
2022 - 70
2023 - 71
2024 - 72
2025 - 73
2026 - 74
2027 - 75

answer:

30 feet

answer:
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